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Directions : Read each sentence to find out whether
there is any grammatical error in it. The error, if any
will be in one part of the sentence, the letter of that
part will be the answer.
In an effort (1) / to make peace (2) Priya spoke sepa-
rately (3) / to both the person. (4)
They had a narrow escape (1) / when skating as
(2) / roaring avalanche (3) / just missed them. (4)
Many of the funds (1) / needed to buy (2) / my own
house were (3) / given by my father. (4)
Since he was from (1) / the district and able to (2) /
speak the language locally. (3) / they trusted him. (4)
| had to work full time (1) / so | could not devote (2) /
as much time as (3) / | wanted to playing cricket. (4)
The professor tried (1) / his best to clear all (2) / their
doubts on the subject (3) / after his lecturing. (4)
George had already (1) / submitted his the document
(2) / even before (3) / you asked for it. (4)



113)

114)

115)

116)

Directions : In the following questions. you have a
brief passage with five questions following the pas-
sage. Read the passage carefully and choose the
best answer to each question out of the four alterna-
tives and indicate your correct altemative.

Recent technological advancement in manned
and unmanned undersea vehicles, overcome some
of the limitations of divers equipment. Without a ve-
hicle, divers often became sluggish and their mental
concentration was limited. Because of undersea pres-
sure that affected their mind, concentration among
divers was difficult or impossible. But today, most
oceanographers make observations by means of in-
struments that are lowered into the ocean or from
samples taken from the water. Direct observations of
the ocean floor are made not only by the divers, but
also by deep-diving submarines. Some of these sub-
marines can dive to depths of more than several miles
and cruise at depths of more than several miles and
cruise at depths of 15 thousand feet. Radio equipped
buoys can be operated by remote control in order to
transmit information back to land-based laboratories
including data about water temperature, currents and
weather. Some of mankind's most serious problems,
especially those concerning energy and food may be
solved with the help of observations made possible
by these undersea vehicles.

With what topic is the passage primarily concened?
1) Recent techological advances

2) Communication among divers

3) Direct observation of the ocean floor

4) Undersea vehicles

Divers have had problems in concentrating under-
water because—

1) The pressure affected their minds

2) The vehicles they used have not been perfected
3) They did not think clearly

4) The pressure destroyed their mental processes
This passage suggests that the successful explora-
tion of the ocean depends upon—

1) Vehicles as well as divers

2) Radio that divers use to communicate

3) Controlling currents and the weather

4) Removal of the limitations of diving equipment
Undersea vehicles—

1) Are too small for a man to fit inside

2) Are very slow to respond

3) Have the same limitations that divers have

4) Make direct observations of the ocean floor

117)

118)

119)

120)

121)

122)

123)

How is radio-equipped buoy most likely to be oper-
ate?

1) By operators inside the vehicle and underwater
2) By operators outside the vehicle on a ship
3) By operators outside the vehicle on a diving
platfom

4) By operators outside the vehicle in a laboratory on
the shore
Directions : In each of the following questions, an
idiomatic expression / a proverb has been given, fol-
lowed by some alternatives. choose the one which
expresses the meaning of the given idiom of prov-
erb.

To get rid of

1) To get hold of

2) To be free from

3) To get ownership of
4) To geta present
Chicken hearted fellow
1) a bold person

3) a smart person
wear and tear

2) a timid person
4) a tall person

1) loss of shape

2) injury caused by accident

3) injury caused by accident

4) a great loss

Which of the phrases (1), (2) and (3)
given below each sentence should replace the phrase
printed in bold in the sentence to make it grammati-
cally correct. If the sentence is correct as it is given
and No Correction is Required, mark (4) as the an-
swer.

If you would have taken the medicine, you could
have gone to school today.

1) If you would take

2) Had you taken

3) If you would be taking

4) If you been taking

Earning lots of money is one of the desires which
are never satisfied

1) which are never satisfy

2) who are never satisfied

3) who is never satisfies

4) No correction required

The passage was so difficult that | could not
comprehend it in the first reading

1) as difficult that

2) so difficult as

3) as difficult as

4) No correction required

Directions :



124)

125)

126)

127)

128)

129)

130)

131)

132)

133)

134)

135)

136)

137)

Besideds his wife, his children and other relatives
also attends the function

1) too attends

2) also attending

3) also attended

4) too attending

Good leaders are always attentive towards his
subordinates' needs

1) A god leader is

2) Good leaders is

3) Some good leader are

4) All good leaders are

Directions : Read each sentence to find out
whether there is any grammatical error in it. The
error, if any will be in one part of the sentence, the
letter of that part will be the answer.

Sheetal bought a (1) / new car and (2) / bragged
about them (3) / for weeks to come. (4)

Being more dangerous (1) / than all the criminal,
(2)  he was imprisoned (3) / in a special jail. (4)
The mayor says that (1) / "I will consider running
(2) / for commissioner's post (3) / but | am not sure
yet." (4)

The comedian enthralled (1) / everybody with his
quick witty as (2) / he had chosen just the right
topic (3) / to warm up to the crow. (4)

The movie star should not have (1) / allowed the
press (2) / at the scene had he (3) / known about
the fuss. (4)

3251 + 587 + 369 - ? = 3007

1) 1250 2) 1300 3) 1375
5) HBS® Dbt
666 +6+3="7

1) 37 2) 333
5) H® Dbt
587 x 999 = ?

1) 586413 2) 587523 3) 614823 4) 615173

857 x 854 x 854 - 276 x 276 x 276 _

4) 1200

3) 111 4) 84

854 X 854 + 854 X 276 + 276 X 276
1) 1130 2) 578 3) 565

5) HES® Hzeed
800 >8S* DhTen Wt (Eos® emmow ?

4) 1156

V3575672355 76 7

9Ll,2,3, 5.4 6,2 31456
3 5 5 6 7 7 5 5 3 7 6 7

0.002x05="7?

1) 0.0001 2)0.001  3)0.01 4)0.1

16.02 x 0.001 = ?

1) 0.0001602 2) 0.01602

3) 0.1602 4) 1.6021

138)

139)

140)

141)

142)

143)

144)

145)

146)

147)

148)

149)

150)

151)

152)

153)

154)

.009

— =.01
1).0009  2).09 3) .9 49
1260+15+7=7
1) 12 2) 58 3) 122 4) 588
5) none of these
The value of/9:16 js :
1) 0.02 2)0.2
3) 0.63 4) none of these
IfN2 = 1.414, the square root ofg;—llis nearest
to:
1)0.172  2)0.414 3)0.586  4)1.414
3 % o8B 5 iHBere Bifew :
1) 3 2)9
3) 12 4) 15
388 9 (Berd Yogge Ddiféw ¢
19 211 3 11% 4) 11%
The value of (256) 4 is :
1) 512 2) 984 3) 1024 4) 1032
(1000)” + 1018 = ?
1) 10 2)100 3) 1000 4) 10000
88% of 370 + 24% of 210 - ? = 118
1) 256 2) 258 3) 268 4) 358
86% of 50 + 50% of 860 = ?
1) 430 2) 516 3) 860 4) 960

2.8 sPAdo Photostat copy adweR8 8en 8
I3, FES 1000 shzre SHTE FEE THE°
2% &Qo) (discount) ard. 5000 seATELR
copy JeHTe8 dod T§ T,

1) Rs. 3920 2) Rs. 3980

3) Rs. 4900 4) Rs. 4920

oIR8 6 a8 SWPP Rs.2.50 firsd e
D08, ©d Rs.25 o0 @ SR P P& By, @
a9 (transaction) & dod o wmr wonod?

1) 8% 2) 9% 3) 10% 4) 11%
5% of (25% of Rs. 1600) is

1)Rs. 5 2) Rs. 17.50

3) Rs. 20 4) Rs. 25

What percent is 3% of 5% ?

1) 15% 2) 30% 3) 50% 4) 60%

a8 Bogg w@és%éoéﬁbéa B0 510. e Doz &t
10% o8 ?

1) 12.75 2) 85

3) 204 4) none of these

2.8 Soggs® 25% $08, 15% of 40, 2 IS, Sogy
1) 12 2) 16 3) 24 4) 32

2.8 Boggs® %0 RS’ 40% E2IF, 30 Hogore
Soh. @ éosps :
1) 28 2) 50

3) 52 4) 70



155)

156)

157)

158)

159)

160)

161)

162)

163)

o8 IYSS® ©0s 84% by BE, w0 476
6.6 DeroBE ROT. Fwdo Dow wond ey
Qdogyg ?

1) 672 2) 700 3) 749 4) 848
9 b FEF) o8 IYPSE, TS Lu8°
55% 2,828 depow ;5 20% ey $00A SPBonmrow ;
o &gy Hogy 7500, vand, Bo&® RS Y
BEHDS Sty Heom.

1) 2700 2)2900  3) 3000 4) 3100

w8 OYES® a8 when ST, 68 Ley S00N
Sonaron, ROV @afggé 52% &.&n D&, 08
08 98 L. Iwdo Roawd dy NBogy :

1) 2382 2) 2450

3) 2518 4) none of these

Rs. 100 % 2.8 3595 oy Rs. 15 o°go rols,
OB LSS

1)15%  2) 12%% 3) 17%% 4) 17%%
a8 3D Rs. 34.80 & @5:&5" 26‘930 SYod.
S TGS

1) Rs. 26.10 2) Rs. 43

3) Rs. 43.20 4) Rs.46.40

Sales Tax & 892 a8 %9 ©lysogs Rs. 616,
Sales Tax 3é» 10%, &seomrd 12% oego
Podd, S5 CP. :

1) Rs. 500 2) Rs. 515

3) Rs. 550 4) Rs.600

6%» Rs. 80 28 120 Sdwe shzed Saransh &
BEZHmeRs 280, S 40 PHe Ho&S octroi
290D, &8 Rs.72 gty Davd. odh 8% ergo
DoBHBF0E, bk » D ©58?

1) Rs. 86 2) Rs. 87.48

3) Rs. 89 4) Rs.90

a8 D6HH Rs. 8 Fud 20 O&8 PSR, TP
Rs. 10 e 20808508 8y DAES, 5kg o Ekw
3%y 20 He8 Toned aren Swmyow. Rs.30per kg
S Cream, & Rs.4 &ud Toned are o8
& {80’ wdd ePTssn

1) 25% 2) 35.3%

3) 37.5% 4) 42.5%

Jacob a8 dmpthd Fod s’ £, ) 8
D8 10% LBiydhed ptyg, Rs. 1100. orgos®
i, 088 20% orgo Ty o BB
Rty 33@26 PL):
1) Rs. 400

3) Rs. 500

2) Rs. 440
4) Rs. 550

164) o8 s&BTEd ol (HEE & ) wFHS
Rs. 25 % 2000 grmrels @&&waé aPET .
8D, a8 &% 5% gemeen TPeagd 508058t
SETADT DOIHaTT, X 25% erFo SHow
VoS FHFTND. R 30803’ 50% grrren
B8 TR Berow. ST IYPS $KSw ¢
1) Rs. 12,000 2) Rs. 13,000
3) Rs. 14,000 4) Rs. 15,000
a8 $8% Rs.600 o o8 H8) F, 4 Lrres®
&5 Rs.765 % ot oirmd. 2ipedp
S8 Bonds 6% e D, ©BI8 S cFTES
1)20%  2) 22%% 3)25%  4) 27%%
166) HEEne® $% S5’ ooh oftired® droe 8
SRR SIS ﬁospegés VETP R Y 2w WFToD
‘EXPLOSION o8 $s&ns® aamon?
1)1 2)2 3)3 4) 4
167) &8 58 (H=8dm 15789 & XTZAL e (°chad3 23465
NPSU e (chads, o& &858 ($sddn 23549 der

165)

(Feodathdoh?
1) NPTUL 2) PNTSL
3) NPTSL 4) NBTSL
168) D = 4, COVER = 63 @o»a BASIS = ?
1) 49 2) 50 3) 54 4) 55

169) a8 € (B=8dm ABHIIT & CEILLLV e (%, ©&
g886® BROTHER & der (@oapd?
1) ETRVKGU 2) DUQWJHT
3) DURWJIT 4) EUQWKHT

170) If in a certain code language, ‘wok che ne’
means’they aare see’, ‘wu che rot’ means’ ‘we are
read’ and’da ne pa’ means ‘They want water’ then
what would be code for water?
1) da 2) ne 3) pa 4) Data is inadequate

171) %50 0P o, JHDH SDHY) o, DBt
Rodn o, Jokod B0 $P%» (€BoF) oY), 350 JPZ0H
eH5F) ©Q ©ol, wddin Soib 28?

1) Do 2) i
3) BB 4) E50555

172) e : ©chIpPE =1 ? aRgead (Deosggeosion)
1) Deopeseois 2) 48

3) DSBen (terminals)  4) aomg,gm (energy)
173) ACFJ : ZXUQ : : EGIN ?

1) VUSQ 2) UTRP
3) VRPM 4) VTRM
174) &8s EBHos® ifee 8 Zo8 PHom HF) Do)
HooSok.
1) 2 2) 83y
3) Bow 4) g5



175) &8od BHos® difee 8 o8 PHomr ) Swred

HooSodk.

1) BFIX 3) DHKM

3) MQTV 4) PRVX
176) & (8od @’3%&06’5 Difee & LoB Yo DY) Doggd

Hoowsod.

1)2 3) 126

3) 215 4H9
177) 456, 546, 654, 789, (?), 987

1) 978 2) 789

3) 897 4) 879
178) BDF, CFI, DHL, ?

1) EJO 2) EML

3) CIM 4) EMI
179)aa b _b_ccdd_

1) abbd 2) abcd

3) bada 4) adbc
180)

4 8 5 4
108 ?
9 12
1) 80 2) 114 3) 108 4) None

181) & (Bod [Eodns?, B Qogy Swodore E0A, R ¥ Sogy
EoHE S o ‘B A PG Soik?
782893852384 78198285

1)3 2) 2
3)5 4)1
182) If Peism'x, R e '+, T e “# and Seim -
then
18T3P9SBR6=7
m-13 B4 Q5 D)

183) T°8S 20 8.8, &EBQET SHFS. SHE EHZH 800
40 8.8, 3. Hde S 3H 80A 20 8.5, S,
DIV MELF:H 8OA 20 8.2, SWOFS. WS IB DS
“geaéw %008 JoSBrEsns® eI ?

1) 20 &.2. 2) 30 8.8v.
3) 50 8.8 4) 60 8.5v.

184) 2.8 Jdeo¥ SrdnfEy 20 . SENHHod. HAIDH 80A
10 &. $50%HSH08. Hv HEFTDH 80A 9 . SERBEA.
S0 HAJH 80A 5 M. HENHH0H. EHTE A D
80A 12 L. DBB HEZD 8O 6 . HHNRDH. DY

dend » 8IS ©dSwporr &od ?
1) e‘éﬁé&oj 2) HEB
3) aEsED 4) 5eaiioo

185)A+B @i A B G 9, A-B widme A, B Gnd) s,
A +B ok A, B &) Sol@ $8a» A X B @i A, B
Sy, AP0 wowd, P, Q Twd) HiErdH ol Bod 28

{08 ?
1)Q-N+MxP 2)P+SxN-Q
)P-M+NxQ 5HQ-S=+P

186)A+B ode A, B &%) 8o&, A - B ode A, B &%)
RS, A + B osme A, B @y, e85 K0 A X B
o A, B 0% 89 oond, Bod &S Do M, T ediysiy
©Q IenHHod ?
HMXN+S+T 2MXN-S+T
JMxS-N=+T HMXNXxS+T

187) 2.8 S8K588%Q 39 Hood 35»553058 8D, HoN& o8B 7
Tren Sooh HTth. wpds wol HWE Fsn 17550
©ond, IJnEB Hod 8D 5‘;268’»: ?
1) 1456 2) 15 £6
3) 16 $8& 4) 17 56

188) 5 %0d wrd¥e HoHE’, WD PEHS® Bokss. e
I8 Lol PED. S ©odd ZoB FED. ook Do
Srer SoB FEH. DO 68ieen (Eos® (Do wrrdorr)
3@5_&2 Soeisd 5‘;26068 AN Hoerdy ?
1) B 2) &
3) 308 S B 4) Hbzto

189) 2.8 0% @) 4 I Fren aXWAID. O Joatd 6
Loadhd ©ddnupomr &od 7

(I) (H) (III) (IV)

11 2)2 3)3 4) 4

190) @31, To5%, L0 i o HowowrR) Bk & HE%
256508 ?
1)1 2)2 3)3 4) 4

191) (1 - 2) & ($o8 a5waS T8 $B¥dpe RBoggd B8§otol.

19
3) 15

2) 11
4) 16

192) BP0 KaohS i 9% o) Soay @) &S (prod-

uct) Qo8 ?
A) 1,58,480 B) 1,59,450
C)1,59,480 D) S8



193) Problem set @lath A, B, C, D ol &8, Answer
set @8 1, 2, 3, 4, 5 Joady So Fuywn So. ‘C
SIS (Bapgssm P Sodh. Answer set & %ol
BagEsn Froolhe FEyd JoE 32, @FB TEFho
RAEPD. oD BV &5y S Joath JSEPEeREw.

PROBLEM FIGURES " ANSWER FIGURES
A B ¢ D 1 2 3 4 5

194) (38 BHS e Dknmrdires Both axwaid. A, B, C,
D problem set % Soofodd. 1,2,3,4,5 answer set
& Bow0podd. A, B dpre Hoi o8 &)gg;_:zs RowoFdm
Boh. worod $ooerl) ¥85 DEPR) JodE Dabto T
C %8cw D o &gy avysaed.

SO (CIRI NN (®|(©)(©)©\®)

& (8od (3B (Eosns® Eangss 3;265»68 &3
QSoggd HBoNod.
195) 4, 10, 22, 46, 94, ?
1) 185 2) 190 3) 191 4) 189
196) 2, 3, 8, 63, (?)
1) 1038 2) 3008 3) 3968 4) 1998

& (Bod &S Eapgse 3;:65::68 &) T 1HBool.
197)AZ,B,Y,CX, D, ?
DE  2W 3R 4)V
198)B,D, G, I, L, N, ?
DO 2)Q 3)S 4)U
199) 2.8 §°€ (Hs°60 PERFECT & RGTHGEV v (&3,
BROWN % «@ §°66° Qe [k ?
1) CTZXP 2) CSPXO
3) DTQUP 4) DSQYP
200) 1947 o5y 155 88 FESEEtnss o
263‘326:. & S O 85w ©HEod ?
1) angaedo 2) WHoaedo
3) BEaro 4) Haso




1) 4
7)1
13) 4
19) 2
25) 3
31) 4
37)1
43) 3
49) 1
55) 1
61) 1
67) 4
73) 1
79) 1
85) 2
91) 3
97) 4
103) 1
109) 3
115) 1
121) 4
127) 4
133) 1
139) 1
145) 3
151) 4
157) 3
163) 3
169) 2
175) 4
181) 2
187) 3
193) 5
199) 3

2) 2
8) 4
14) 2
20) 4
26) 1
32)3
38) 3
44) 2
50) 3
56) 1
62) 4
68) 1
74) 4
80) 3
86) 3
92) 1
98) 2
104) 2
110) 4
116) 4
122) 3
128) 4
134) 2
140) 3
146) 2
152) 2
158) 3
164) 2
170) 4
176) 1
182) 3
188) 4
194) 5
200) 3s

2330°200
3) 3 41
9) 3 10) 3
15)2  16)1
21)3  22)1
27)1  28)4
33)2 34)3
39)2  40)2
45)2  46) 3
51)1  52)1
57)1  58)1
63)3  64)4
69)3  70)2
75)1  76)4
8l)1 822
87)3 88)2
93)1  94)3
99)1  100) 3
105) 1  106) 4
11) 4  112) 2
117)4  118) 2
123)1 124)1
129)3 130) 1
135)1  136) 2
141)2  142) 2
147)3 148) 4
153)2  154) 2
159) 4 160) 1
165)3 166) 3
171)4 172) 3
177)4 178) 1
183)1 184) 3
189)1 190) 3
195)2 196) 3

5) 2
11) 3
17) 4
23) 1
29) 3
35) 2
41) 4
47) 4
53) 1
59) 1
65) 2
71) 1
771
83) 2
89) 2
95) 2
101) 4
107) 2
113) 4
119) 2
125) 1
131) 4
137) 2
143) 3
149) 2
155) 2
161) 4
167) 3
173) 4
179) 2
185) 3
191) 2
197) 2

6) 3
12) 2
18) 1
24) 3
30) 1
36) 4
42) 4
48) 4
54) 4
60) 2
66) 3
72) 2
78) 2
84) 1
90) 1
96) 3
102) 4
108) 1
114) 1
120) 3
126) 2
132) 1
138) 3
144) 3
150) 3
156) 1
162) 2
168) 2
174) 4
180) 3
186) 1
192) 4
198) 2

QSBeaen
8597

- 3071
131) 3251 4207 - x = 3007 @S omes. 5506

+ 587 ©QP, x= 4207 - 3007 = 1200.
+ 369
207

IN

132) @iy wismosn = 666 x5~ x5 = 37.

133) 587 x 999 = 587 x (1000 - 1)
= 587 x 1000 - 587 - 1 = 587000-587
= 586413

134) )% d&mssw =(@0°) _ = (ap)= (854-276) = 578.
(a?+ab+b?)

135) Converting each of the given fractions into decimal
form we get:

_033—=04—_0573_06 —082£ 0.857

Clearly, 0.33<0.4<0.57<0.6<0.82<0.857.

-y 5 3
SO, PSP 6 - 7

136) 2 x 5 =10. Sum of decimal places = 4.
.. 0.002 x 0.5 =0.0010 = 0.001.

137) 1602 x 1 = 1602. Sum of decimal places = 5.
o 16.02 x 0.001 = 0.01602.

9
1

138) Let-009 = 0.1 Then x=009 =2 =g
x 01

139) Given expression :%go +7=84+7=12.

0.61 _ |0.61 _ 7
1400\57 =\ 040 = \40 1od Cees

) (QZ 1)_ (QZ 1)_ _1)
T+1 (2+1) (V2-1)

142) Average = 3(1+¥2+3+4+5) - 45 _g
5 5
413) Average :[2+3+5+7+].’L+13+17+19+23]= 100 - 1741
9 9 9

- 5
144) (256) = (4% =41 1=45=1024.

145) (1000)7 101 = (1000)Z (10°)7 10%9_ 10%_ 1 gyciae
018 018 018 1018
= 10° = 1000,

146) Let 88% of 370 + 24% of 210 - x = 118.
Then, x=[ 88 x 370] +[ 24 x 210] - 118 = 325.60

100 100
+50.40 - 118 = 376 - 118 = 258.



147)Given expression = [ 860x 50+ 350 x 860] = 430 + 430
100 100

= 860.
148)Total cost = Rs. [1 x 1000 + (100 - 2)% of 1 x 4000]

= Rs. (1000 + 0.98 x 4000)
= Rs. (1000 + 3920) = Rs. 4920.

149)Actual price = Rs. (25 + 2.50) = Rs. 27.50.

. Saving = [227-5500 x 100]06 =122 06 = 9 06 = 906

150)5% of (25% of Rs. 1600) = Rs. [100x [ 2 5 X 1600]]

= Rs. 20.

3%.1 00T
ot S%y100]%

=l (gﬁgg) x 100]% = 60%

151)Required percentage =

152)Let the number be x.

Then, X-Ax 510©%X 510ex=[ 510X5]

5
= 850.
'+ 10% of 850 = 85.
153)Let the number be x . Then,
25 510x5
15% of 40 - 25% of x =2« 100%° [ 3 x 40] - 2

e =4e x =16,

154)Let the number be x. Then, x - 40% of x = 30

40 2 3x _
@x-loox 30 & X 5x 30 & 5 30

x=[205 30X5

] = 50.

155)Let the total number of votes polled be x.
Then, votes polled by other candidate = (100 - 84) %
of X = 16% of x.

X=476 &

<. 84% of x - 16% of X = 476 < 16080

_ 1 A476x 100 q _
20X 220 1= 700.
=755 1=

156)Number of valid votes = 80% of 7500 = 6000.

Valid votes polled by other candidate = 45% of 6000

_ . 45 _
= [y % 6000) = 2700.

157)Let the number of valid votes be x.

Then. 52% of x - 48% of x =98 < 4% of x = 98

4
100x 98 < x =98 x25 =2450.

158)S.P. = Rs. 100, gain = Rs. 15.
’ C.P.=Rs. (100-15) =Rs. 85.

x 100]% = 300 9% = 171194

Gain % = [ 17

159)C.P. = Rs. ( 17050 x 34.80) = Rs. 46.40.

616 X 100)

0, =
160)110% of S.P. = 616 X

S.P.=Rs. (
= Rs. 560.

" CP=Rs. (] 100 x 560) = Rs. 500.

40
100

+72]

161)Total investment = Rs. [120 x 80 +280 + x 120

= Rs. (9600 + 280 + 48 + 72) = Rs. 10000.

S.P. of 120 reams = 108% of Rs. 10000 = Rs. 10800.

10800
120

162)Investment = Rs. (20 x 8 + 10) = Rs. 170. Receipt =

es S.P. Per ream = Rs. [—=—] = Rs. 90.

Rs. (30 x 5 + 20 x 4) = Rs. 230.
o Gain % = (167%x 100)% = 35.29% = 35.3%
163)Let the C.P. be Rs. x. Then, 20% of x = 1100 « 12000

X X=1100 & x=5500.

Actual price = Rs. ( 128 x 5500) = Rs. 5000.

°. Expenditure on repairs = Rs. (5500 - 5000)

= Rs. 500.

100
125

x 25 x 1900) = Rs. 38000.

164)Total cost incurred = Rs. |

100
125

Loss to the manufacturer = Rs. [38000 - (25 x 1000)]

X 25 x (95% of 2000)]
=Rs. (S5

= Rs. 13000.

600 X 6 X 4
100 x 12

= Rs. (765 - 612) = Rs. 153.

165)C.P. = Rs. (600 + ) = Rs. 612. Gain

S Gain % = [-193 x 100]% = 25%
612



166) EXPLOSION =
5, 24, 16, 12, 15, 19, 9, 15, 14 5258 aden, P - S,
L-15008c» O-N

167)  [115]7[8] 9] %60 [2]3]4]6
X[T|ZIAlL NIP[S|U
[2[3[5]4[9] =[N[P[T|S[L]

168) D=4%00% C + O + V+ E + R
| | | | |

3 15 22 5 18 = 63

B+A + S+1I1+S

| | | | |

2 1 19 9 19 =50.
169) A B H | J | T

Hence

D U Q W J H T

170) (i) wok che ne = they are see.
(ii) Wu che rot = we are read.
(iii) da ne pa = they want water.
From (i) and (iii) ne = they, but water = either pa or
da. Hence data is inadequate.
171) essedsm ord oo 8508, Do Logrssn Sord evwkh.
B8, wzedhn Boid ogrdsn o (€808).

172) e0chidmozdé garen eéune Hiierds D58es dotron.

173)  As

ACFJ Z X UQ

| |
opposite letter

opposite letter

opposite letter

opposite letter
Similarly,

E G | VTRM

|
opposite | etter

opposite letter

opposite letter

opposite letter
174) ifee @) Sr3HeB $oR0HoDI.

175)
A0 BASM M9 Y,
+4 +3 +2 +4 +3 +2 +4 +3+2
L0
+2 +4 +2

176) Sorize @) Socknd Soggen (Composite numbers) s,
‘2 (e Sogyg (prime number).

177) If 456, 546, 654, then789, 087

178) B C D E
D = H J
= | L o

179) aaa | bbb | ccc | ddd
180) (4+8)X9 =108
(5+4)X12 =108
181)782893852384781988 5 ehedd adew
385 8™ 781
182) Putting the proper signs, we get
18T3P9%$8r6=18-3x9-8+6

=6Xx9-8++6
=54-84+46=60-2=52
183) N
E
c 40 §/§1>. B
20 8.5\ ,*\ 90 & 5.
\
V4
D 20 é.ib.E .
SPHODH Erdsw = 40 - 20 = 20 8.5, N
1264 20858 s b E
& [1—>—>¢ S
A 20 8.5
@ 6. N 10 8.%.
E s
Don C
Ebf{)& a)éé dend égﬁ;é&é:&é) @8Xnpore o ‘éo)éqom
Benob.
185) P-M P.‘M’ &g 550t
M -N M. N’ Gwg) 89
NXxQ N.‘Q & 26
P'Q &) H5srd
186) M x N M. ‘N’ Gws) 89
N+ S N. ‘S &) g8
S+T S.'T Gw§) Sol&
&g, ‘M, T &g XY,
180 e
+6+ +16
&
15424 S

008 Jod BD U°§o§ =39-(17+7)+1 =16 %&.
188) d&eon @t (st ©Hed
Q8 < Prar < Do < < .
858, Do Hureiss égtééwés Hobd.
189) (i), (i) Sbosw (iii) Dgre woe Hdkw (‘005601‘53565
QI 2, 3, 5, 4 B 5 6 B (DET HIow. B,
1ADS a8 ol ‘17 6o ©dlnporr Hotnod ?



190) 085008 TEL [P RE, 9T Eo8H08 [EPIRE TS,
0808 (EFPIE oK. @orh 08508 Kt
B Fodod TEs HETE. ool Fodob
St T, Fodiod W, SETEH  @HEG
©ONHOLD).

191) ehsen 4  DE,FH, IL, BC
desaren Aden 7
AC, DO, FN, IM, AB, EM & HN.
o $8¥3en 4+ 7 =11

192) BO8E%H KaHSE® HX) woSed® e @08 ‘0 B, o)
®0S® ©80 ‘0 9H&BHok.

193) (58 53, &%y $XHIE® 90” 2300 SHYES SR BB
JH0EE BEIHSOB. (HRBIL &) VLT I
80 PO wowdenHod oBHBm DERHD..

194) HEpen Sséperenrr Srgpisd. wlamren ey
ool il

195) 4x2+2=10

10x2+2=22
22X2+2=46
46x2+2=94
94x2+2=190
190 esaem
196) (2)° 4-1=3
(3 9-1=8
(8" 64-1=63
(64)> 3969-1=3968
3968 esaren

197)

L
A°Z BYCXDW
L 11 I |

+1 +1 +1

198)

+2 +3 +2 +3 +2 43

199) ‘
P E RE E CT

T % T O TR A T I A
R GTHOGEV

B R O WN
b2 2l dala

D TQYFP



